
Lösungen zu den Aufgaben zu den Potenzgesetzen

1. a) u4−n+m + um+1 + u7−n + u4 b) v2p+2 − v2q+2 c) 15x5k + + 21x4k−8 − 33x4k−2

d) x4n+4 −1 e) z4m−n − z4n−m

  2. a) 6y − x2ky3 −7 + 4x4ky +4 b) 3a2m+8n − 2am+n + a5n c) 2u5p+7q + 8u4p−9q

  3. a) −2 ⋅ 3k b) 10 ⋅ 3k c) 2n−1 d) 0 e) t −1 ⋅(s3 − t3)

f) 3a − 2b( ) ⋅ x − y( )p
g) a2 +1( )m h) − u3 −1( )k+1

  4. a) x2y2 ⋅ x − y( ) ⋅ x + y( )    b) x5 ⋅ 2x − 1( ) ⋅ 2x +1( )    c) 2p4 ⋅ p2 + q2( ) ⋅ p + q( )⋅ p − q( )
d) a3 − b3( ) ⋅ a2 + ab +b2( )⋅ a − b( ) e) ym ⋅ 1− y( )⋅ 1+ y( )  f) ck −1 ⋅ c −1( ) ⋅ c +1( )

g) en−2 ⋅ 1− e( ) h) r −1 ⋅ 1+ r3( ) i) wn − 5( ) ⋅ wn + 5( ) k) xm − ym( )⋅ xm + ym( )
l) bk − c( )⋅ bk + c( ) m) u ⋅ up −uq( ) ⋅ up −uq( ) n) am ⋅ a + 2( )2

o) y −2 ⋅ 3y2 − 2( )2
p) xn + z( )2

q) 5vk − 2vm( )2
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  9. a) 9n b) 5 ⋅ 5m c) 1
36 ⋅ 6n d) 64 ⋅16k    e) 1

100000 ⋅1000k

10. a) 10 b)
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1

2n+5un+5w2 = 2−n−5u−n−5w−2    c) a4nb6x−6n−3y6n−1


